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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]

3500 7 —@— ECopt

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec’,
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P3-7

BYiE) | BRI (7)) | ERE (EFH/HK) =5 R

06:30 141 90.0 = Fi#A@06:30 (ARFAIERES)
07:30 141 90.0 ES FiHR@07:30 (KRFIEEES)
08:30 141 90.0 = FiHA@08:30 (KRF{EEEE)
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14:15 141 90.0 ] FHe14:15 (REERES)
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P3-7

BfiE) | GEBIETK (D) | EE (EH/R) | XK R
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P3-7

BFE) | GEBRTIK () | ElE (EF/F) | XS R

06:35 120 80.0 |Z = 1R1%@06:35 (K FHfERLES)
07:35 120 80.0 = B31&@07:35 (KFfEREE)
08:35 120 80.0 |Z =& B1%£@08:35 (KRFERSE)
10:05 120 80.0 |Z= B31£@10:05 (KAL)
11:30 120 80.0 (&= Bi%011:30 (REERSE)
12:30 120 80.0 |Z=& Bi%012:30 (REERSE)
13:35 120 80.0 |Z =& B318@13:35 (KRFEREE)
14:50 120 80.0 |Z = Bi%014:50 (REERSE)
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P3-7

BfiE) | GEBIETK (D) | EHE (EH/HR) | XK R

01:50 120 70.0 A BR1&@01:50 (R FHfERLES)
02:50 120 70.0 A BRi%@02:50 (RFFEREE)
03:50 120 70.0 1] B3i%@03:50 (KFERSE)
09:00 120 70.0 1] 131£@09:00 (K F{ERLEE)
11:10 120 70.0 (&= Bi&e11:10 (REAEREE)
12:20 120 70.0 5 Bi%012:20 (REERSE)
13:25 120 70.0 & B1&@13:25 (KRFERE)
14:25 120 70.0 5 BRi&@14:25 (KRFAEREE)
15:40 120 70.0 5 B1%015:40 (REERSE)
23t[1080.0 (9%) 630. 0 3203 KEC: 2000.0, PH: 6.5

EREBRTK (120. 0) 57a8A (109. 0) RfF, FIREH T % @RE#1RS % XER

ZRINKPRIEBL77.0 ml.

large discrepency for begining water status (202:294.0), set to 210.0 ml.
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P3-7

BFE) | GEBRTIK () | ElE (EF/F) | XS R

01:35 120 70.0 5 B31&@01:35 (KRFEREE)
02:35 120 70.0 = BRi%@02:35 (RFIFEREE)
03:35 120 70.0 (&= B3%£@03:35 (KRFERSE)
08:25 120 70.0 (2= Bi%@08:25 (FKFERKSE)
09:55 120 70.0 5 B1%@09:55 (KRFERSE)
11:25 120 70.0 (&= Big011:25 (REERSE)
12:30 120 70.0 (2= Bi%012:30 (RAERSE)
13:45 120 70.0 (2= Bi%013:45 (REERSE)
15:20 120 70.0 A Bi%@15:20 (REERSE)
23t[1080.0 (9%) 630. 0 3Z3KEC: 1900.0, PH: 6.5

EREBRTK (120. 0) 57a8A (109. 0) RfF, FIREH T % @RE#1RS % XER

ZRINKPRIEBL77.0 ml.

large discrepency for begining water status (180:290.0), set to 202.0 ml.

REX 1 [B] RECEIE TR K.
RER B HEREC/PHIEERE, 7]

VNN
BEFZ

MEARBR TR




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=10 (2025-04-08)

VI, V83#RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 93939
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40 -

20 -

59
00 Warning: lcol [FVI',| "FVO’'] missing 00 |

100

~
(&)}
1 =

o

a1
o
1

N
[$)]
1

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0,  TargetSetEC=1900. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.5

Warning: lcol ['PHB’,| 'PHC’'] missing
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Bylnit @14 02:46: ET=620 Fg=800.0 Ro=80.0
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